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Shri JagJivan  Ram : That  will be 
difficult for me to say.  In the  First Five 
Year Plan we have opened  18,000 post 
offices and the loss on every post office is a 
maximum of Rs. 750.  But I think there are 
many post officcs which may earn a portion 
of this  loss.  I  cannot  definitely  say 
how many post offices are still being sub­
sidised to the full extent of Rs. 750.
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Shri S. C. Samanta : I want to know 

whether they are running at a loss.

Shri JagJivan Ram : They are. As I 
said, many ot the post offices are running at 
a loss.
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Shri Jaĝ van Ram : That  does not 
arise out of this question but I am prepared 
to give the information.  It is more complica­
ted to have cheque system in the rural post 
offices.  The hon. Member must appreciate 
that it requiics spcdal trainirg not only for 
the clerk who deals with the cheques  but 
also for the man who presents the cheque.
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Shri  Gajendra  Pratad  Sinha: Is
there any proposal to relax the condition of 
2000 population  as far as Chotta Nagpur 
is concerned, because it is an Adivasi area)

Shri Jagllvan Ram: I would  invite 
the attention of the hon.  Member to the 
pamphlet giving the activities of the depart­
ment in which it has been stated that for 
backward areas and hill districts this rule 
will be relaxed.

It may mean a loss up to Rs. 1,000 for 
every post office, and in special cases, we 
may even accept a loss of more thapRs. 1,000

Shri Bogawat: May  I  know  why 
there is delay in giving post offices in  all 
areas where there is a population of 2,000 
especially when it was promised that within 
April, 1956, the post offices will be made 
available and also especially when there is 
a row from the people of the several  areas 
having a population of 2,000 ?

Shri Jaglivan  Ram: So far as  the
villages in the countiy, having a population 
of 2,060 or more are concerned, they have 
been covered with post offices, except a few 
villages in the tea estates.  As regards other 
areas, I may say that one can draw the areas 
in various wâ and then say that they have 
not been provided with post offices.  It will 
of course take more time to provide all the 
areas with post offices.

Shrimati A. Kale : May I know whether 
all places with a population of 2,000 or more 
in Uttar Pradesh have been  covered  by 
post offices ?

Sliri JagJivan  Ram : That is  what 
I have said.  All villages with a population 
of 2,000 barring a few which,  accordf. g I > 
our information, have themselves  said that 
they do not require post offices, have  been 
covered with post offices.
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«TT I  «n*T TT5̂ %  # ̂TTTTT TT

Hrr t ̂  ^   ̂ #

fiRT Ttv StT % ?TT  ̂ % 5n# wk 

%-3|T## T̂ff ̂ Tf̂ iftr ̂

%   ̂  # ̂(TOTW q5t ̂  ̂  flT-

Tift  vhTR  ̂mmr

TT  TT5TT ^Tf̂  I  '

Shri Achuthan :  The answer may be 
read in English also.

Mr. Speaker : Yes.




